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Ė = 5.9×1033 erg s−1

Ep= 0.9 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b free

b = 2
3

PSR J0359+5414 — 4FGL J0359.4+5414 — GU q

P = 79.4ms
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Ė = 5.9×1033 erg s−1

Ep= 2.4 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b free

b = 2
3

PSR J0534+2200 — 4FGL J0534.5+2200 — RE rx

P = 33.7ms

Ė = 4.4×1038 erg s−1

Ep= 0.1 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J0540-6919 — 4FGL J0540.3-6920 — X rx

P = 50.6ms
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Ė = 8.1×1034 erg s−1

Ep= 3.0 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1125-6014 — 4FGL J1126.4-6011 — R mbr

P = 2.6ms
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Ė = 5.0×1033 erg s−1

Ep= 0.5 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

PSR J1259-8148 — 4FGL J1259.0-8148 — RU mbrw

P = 2.1ms
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Ė = 3.7×1033 erg s−1

Ep= No Value



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1335-5656 — 4FGL J1335.0-5656 — GU mq

P = 3.2ms
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Ė = 9.6×1034 erg s−1

Ep= 3.6 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b free

b = 2
3

PSR J1429-5911 — 4FGL J1429.9-5911 — GU q

P = 115.8ms
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Ė = 2.1×1034 erg s−1

Ep= No Value



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1628-3205 — 4FGL J1628.1-3204 — RUP mbkr

P = 3.2ms
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Ė = 4.7×1034 erg s−1

Ep= 1.3 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

PSR J1646-4346 — None — R r

P = 231.7ms
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Ė = 1.2×1034 erg s−1

Ep= 0.8 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b free

b = 2
3

PSR J1658-5324 — 4FGL J1658.6-5323 — RUP mr

P = 2.4ms
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Ė = 1.5×1035 erg s−1

Ep= 2.0 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1732-5049 — 4FGL J1732.7-5050 — R mbr

P = 5.3ms
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Ė = 3.6×1036 erg s−1

Ep= 0.9 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1827-0849 — 4FGL J1827.6-0849 — GU mq

P = 2.2ms
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Ė = 6.0×1034 erg s−1

Ep= 0.2 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1844-0346 — 4FGL J1844.4-0345 — GU q

P = 112.9ms
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Ė = 4.2×1035 erg s−1

Ep= No Value



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1857+0143 — 4FGL J1857.6+0143 — R r

P = 139.8ms
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Ė = 2.2×1034 erg s−1

Ep= No Value



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1913+0904 — 4FGL J1913.3+0905 — R r

P = 163.3ms
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Ė = 8.1×1034 erg s−1

Ep= 2.6 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J1925+1720 — 4FGL J1925.2+1729 — R r

P = 75.7ms
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Ė = 1.3×1034 erg s−1

Ep= 3.4 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b = 2
3

PSR J2017-1614 — 4FGL J2017.7-1612 — RUP mbwr

P = 2.3ms

Ė = 7.7×1033 erg s−1

Ep= 1.6 GeV



0.1 1 10 100 1000

Energy (GeV)

0.001

0.01

0.1

1

10

100

1000

ν
F
ν

(1
0−

12
er

g
cm
−2

s−
1
)

b free

b = 2
3

PSR J2017+3625 — 4FGL J2017.9+3625 — GU q

P = 166.7ms
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